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y = -0,0146x2 + 0,0902x + 1,9388
R² = 0,0872

y = -0,0548x2 + 0,3774x + 1,5032
R² = 0,46
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 Arbequina  Arbosana1)

y = -0,0681x2 + 0,5301x + 0,0126
R² = 0,53

y = -0,0836x2 + 0,5742x - 0,0511
R² = 0,45
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 Arbequina  Arbosana3)

y = -0,004x + 0,144
R² = 0,33

y = 0,0111x2 - 0,0822x + 0,3262
R² = 0,77
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 Arbequina  Arbosana5)

y = -0,0117x2 + 0,0767x + 0,0384
R² = 0,54

y = -0,0133x2 + 0,0792x + 0,0276
R² = 0,68
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 Arbequina  Arbosana2)

y = 0,0764x2 - 0,6056x + 2,45
R² = 0,68

y = 0,0868x2 - 0,7269x + 2,6475
R² = 0,86
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 Arbequina  Arbosana4)

y = -2,0276x2 + 14,494x - 2,0572
R² = 0,80

y = -3,8383x2 + 24,977x - 12,063
R² = 0,85
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